
       
PAGE 1 OF 4 

 

             
 

 
 
 

LAWN PRO  
TRACTOR CANOPY 

and 

ZERO TURN MOWER CANOPY 
MODELS: LNP1012 

 

 
 

READ ALL INSTRUCTIONS BEFORE USING THE ALL PRO OR LAWN PRO CANOPIES 
NOTE:  ASSISTANCE IS NEEDED WITH THIS PRODUCT INSTALLATION. Failure to read instructions before use 

could result in injury or death. 
 

Instructions for Installation and Use: 
 
 
 
 
 
 

 
    
                                 FIG. 1 
 
 
 
 

CONTENTS: SEE FIG. 1 
1 –COMPOSITE TOP WITH FRAME 
1 –SET OF 2 UPRIGHT TOP SUPPORTS 
4 -3/8” U BOLTS 
4- 5/16” x 2 ½” U BOLTS 
8 -3/8” FLAT WASHERS 
8 -3/8” LOCKNUTS 
8 -5/16” X 2 1/4” BOLTS 
16 -5/16” LOCKNUTS 
24 -5/16” FLAT WASHERS 
8 –EXTERNAL TOOTH LOCK WASHERS 
2 –MOUNTING PLATES WITH 6 OBLONG 
HOLES 
2 –MOUNTING PLATES WITH (4) 7/16” 

  
 



 
 

 
PAGE 2 OF 4                                                           

                                    
 
 

       
        FIG. 2       
                              
     
                             

                                                                                                            
                                                                                                          
                                                                                                          
 
 
 
        
 
 
                 FIG. 3  

 
 
 
 
 
 
 
 
 
 
 

                     
             

          
 
 
 
FIG. 4 (INSIDE MOUNT)         FIG. 4A (OUTSIDE MOUNT) 

        
 
 
 
 
 
 

STEP 2-MEASURE THE ROLL BAR 
WIDTH ON YOUR TRACTOR OR 
MOWER. MEASURE THE WIDTH OF 
THE TRACTOR TOP FRAME. SEE FIG. 2 

STEP 3-INSTALL MOUNTING 
PLATES WITH OBLONG HOLES 
TO CANOPY USING 5/16” BOLTS, 
FLAT WASHERS, EXTERNAL 
TOOTH LOCK WASHERS AND 
LOCK NUTS PROVIDED.  
**NOTE**EXTERNAL TOOTH 
LOCK WASHERS MUST BE 
INSTALLED BETWEEN 
MOUNTING PLATES AND 
CANOPY FRAME. **SEE FIG. 3  
 

**NOTE**MOUNTING PLATES CAN BE MOUNTED TO THE INSIDE SEE FIG. 4 OR OUTSIDE 
SEE FIG. 4A OF THE CANOPY FRAME TO ACCOMMODATE YOUR ROLLBAR WIDTH. ** 
 



 
 

      
PAGE 3 OF 4 

 
 
 

  
  FIG. 4                       

                                
 

                                                                                                                                                  

 
                             FIG. 5   
  

  
            FIG. 6 

 
 
 
 
 

STEP 4- 
ATTACH UPRIGHT SUPPORTS TO 
MOUNTING PLATES WITH OBLONG HOLES 
AS DONE IN STEP 3. 
*NOTE*SELECT THE APPROPRIATE 
HOLES OF THE 3 SETS AVAILABLE TO 
ACQUIRE THE DESIRED ANGLE FOR 
YOUR TRACTOR TOP/CANOPY.*  
 
*NOTE**THESE BOLTS SHOULD BE LEFT 
SOMEWHAT LOOSE UNTIL FINAL 
ASSEMBLY HAS BEEN COMPLETED. ** 
SEE FIG. 4  

STEP 5-ATTACH 3/8” U-BOLTS TO VERTICAL 
SIDES OF ROLLBARS USING 3/8” FLAT 
WASHERS AND 3/8” LOCK NUTS PROVIDED.  
**NOTE**  TO INSTALL ON A LEXMARK 
LAWN MOWER WITH ROUND ROLL BARS, 
USE THE 5/16” X 2 ½” U BOLT AND 
HARDWARE INSTEAD OF THE 3/8. 
**NOTE**U-BOLTS SHOULD BE LEFT 
LOOSE ENOUGH FOR THE UPRIGHT 
SUPPORT BARS TO BE INSERTED THRU U-
BOLTS. ** SEE FIG. 5 

STEP 6-WITH ASSISTANCE RAISE 
THE CANOPY ASSEMBLY AND 
SLIDE DOWN THRU THE U-BOLTS. 
ALSO WITH ASSISTANCE TIGHTEN 
THE 4 U-BOLTS AROUND THE 
UPRIGHT SUPPORTS AND 
ROLLBARS SECURELY. SEE FIG. 6
      
      
 



 
 

PAGE 4 OF 4 
 
                                                                                                    

 
                                                                            FIG. 7 

     
 
 
 
 
 
 
                                                 

 CANOPY DOES NOT OFFER ANY ADDITIONAL ROLLOVER PROTECTION. 
 

 NEVER ALLOW ANYONE TO SIT OR STAND ON CANOPY.  
 

 CANOPY IS NOT INTENDED TO TRANSPORT ANY CARGO AND/OR              
           EQUIPMENT. 
 
 
 
                              For more information about this or other products, contact us at: 

                                   Great Day, Inc. 
604 Kimbrough Dr. * Tallulah, LA 71282 * (866) 649-1918 * www.greatdayinc.com 

STEP 7-BY UTILIZING THE RANGE OF 
MOVEMENT PROVIDED WITH THE 
OBLONG HOLES IN THE MOUNTING 
PLATES, HOLD CANOPY HORIZONTAL 
TO GROUND. TIGHTEN ALL 
HARDWARE SECURELY. SEE FIG. 7 
 
 
 
                                    

http://www.greatdayinc.com/

